

Delhi Urban Shelter Improvement Board Govt. of N.C.T. of Delhi Office of the Executive Engineer, C-04 First Floor, Office cum Shopping Complex, New Ranjit Nagar New Delhi-110008 Email ID: eec4.dusib@gmail.com

NIQ No.04/EEC-4/DUSIB/2019-20/D- >98

Dated: 07/08/19

## NOTICE INVITING QUOTATION NO.04

Sealed percentage/item rate quotations are invited from the registered/specialized agency of appropriate class for under mentioned work by the undersigned on behalf of DUSIB upto 3:00 PM on dated 08.08.2019 which will be opening on the same day at 3:30PM in the presence of intending quotaioners or their representatives in the office of the Executive Engineer, C-4 at 1<sup>st</sup> Floor, Office Cum Shopping Complex, New Ranjit Nagar, New Delhi 110008. The schedule of item/quotation documents including terms and conditions may be obtained from the office of Executive Engineer, C-4 on submission of an application along with a Demand Draft amounting to Rs.1860/- in favour of EEC-4 DUSIB (security demand draft along with production of original Pan, GST and valid registration. Demand draft will be refunded to unsuccessful bidders).

Name of Work :

Sub Head

: Improvement of sewerage system of JSC at Jawahar Camp, Kirti

Pay & Use JSC

Nagar. (PMS: 12274)

Estimated Cost : Rs.92,781/-

Time : 15 days

## **TERMS & CONDITIONS**

1. The work shall be carried out as per CPWD specifications.

2. Cement/steel required shall be arranged by the agency and same shall confirm to relevant specification/I S Code.

3. Payment shall be made as per actual measurement at site of work.

4. No T & P shall be issued.

5. No extra charges shall be paid expect for the rates quoted.

6. Conditional quotations shall be liable to rejection.

7. For any disputes the mater shall be referred ro SE-II, DUSIB for final decision and the same shall be binding upon both the parties.

8. Time allowed for completion of work shall be 15 days which shall be reckoned from the date after the date of approval from competent authority.

9. Statutory taxes shall be deducted from bills of contractor. Security shall be refunded after on month of completion of work.

10. Necessary statutory deductions will be made as per prevailing Law.

11. Work shall be completed to the satisfaction of Engineer-in-charge.

12. Debarred/blacklisted agencies shall not be permitted to participate in the NIQ process.

13. The contractors are required to comply with labour rules w.r.t leave medical and minimum wages etc.

Executive Engineer, C-4, DUSIB

## ame of Work: Pay and Use JSC Sub Head: Improvement of sewerage system of JSC at Jawahar Camp, Kirti Nagar, (JSC Code 25CJ0482)

S. No.	DSR Reference		Quantity	Unit	Rate In Figures	Amount
1	2.10.1.2	Excavating trenches of required width for pipes, cables, etc including excavation for sockets, and dressing of sides, ramming of bottoms, depth up to 1.5 m, including getting out the excavated soil, and then returning the soil as required, in layers not exceeding 20 cm in depth, including consolidating each deposited layer by ramming, watering, etc. and disposing of surplus excavated soil as directed, within a lead of 50 m: All kinds of soil: Pipes, cables etc. exceeding 80 mm dia. but not exceeding 300 mm dia	12.00	m	225.45	2705.40
2	4.1.10	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level: 1:5:10 (1 cement: 5 coarse sand(zone-III): 10 graded stone aggregate 40 mm nominal size)	2.16	Cum	4209.05	9091.55
3	4.1.3	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level: 1:2:4 (1 cement: 2 coarse sand(zone-III): 4 graded stone aggregate 20 mm nominal size)	0.50	Cum	5481.95	2740.98
4	19.6.3	Providing and laying non-pressure NP2 class (light duty) R.C.C. pipes with collars jointed with stiff mixture of cement mortar in the proportion of 1:2 (1 cement : 2 fine sand) including testing of joints etc. complete : 250 mm dia. R.C.C. pipe	12.00	m	482.05	5784.60

5	19.9.1.1	Constructing brick masonry circular type manhole 0.91 m internal dia at bottom and 0.56 m dia at top in cement mortar 1:4 (1 cement :4 coarse sand), in side cement plaster 12 mm thick with cement mortar 1:3 (1cement : 3 coarse sand) finished with a floating coat of neat cement, foundation concrete 1:3:6 mix (1 cement : 3 coarse sand : 6 graded stone aggregate 40 mm nominal size), and making necessary channel in cement concrete 1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate 20 mm nominal size) finished with a floating coat of neat cement, all complete as per standard design : 0.91 m deep with S.F.R.C. cover and frame (heavy duty, HD-20 grade designation) 560 mm internal diameter conforming to I.S. 12592, total weight of cover and frame to be not less than 182 kg., fixed in cement concrete 1:2:4 (1cement : 2 coarse sand : 4 graded stone aggregate 20 mm nominal size) including centering, shuttering all complete.(Excavation, foot rests and 12 mm thick cement plaster at the external surface shall be paid for separately) : With common burnt	1.00	No.	8683.75	8683.75
	477.6	clay F.P.S. (non modular) bricks of class designation 7.5	243.00		56.50	
6	19.10.1	Extra depth for circular type manhole 0.91 m internal dia (at bottom) beyond 0.91 m to 1.67 m With common burnt clay F.P.S. (non modular) bricks of class designation 7.5	0.20	m	4911.80	982.36
7	19.21.1	Making connection of drain or sewer line with existing manhole including breaking into and making good the walls, floors with cement concrete 1:2:4 mix (1 cement : 2 coarse sand : 4 graded stone aggregate 20 mm nominal size) cement plastered on both sides with cement mortar 1:3 (1 cement : 3 coarse sand) finished with a floating coat of neat cement and making	1.00	No.	391.15	391.15

		necessary channels for the drain etc. complete: For pipes 100 to 250 mm diameter		2	en poets.	
8	15.2.1	Demolishing cement concrete manually/ by mechanical means including disposal of material within 50 metres lead as per direction of Engineer - in - charge. Nominal concrete 1:3:6 or richer mix (i/c equivalent design mix)	1.62	Cum	997.05	1615.22
9	6.1.1	Brick work with common burnt clay F.P.S. (non modular) bricks of class designation 7.5 in foundation and plinth in: Cement mortar 1:4 (1 cement: 4 coarse sand)	5.52	Cum	4970.30	27436.06
10	13.4.1	12 mm cement plaster of mix : 1:4 (1 cement: 4 coarse sand)	24.00	Sqm	180.85	4340.40
11	13.18	Neat cement punning	24.00	Sqm	42.60	1022.40
12	5.1.2	Providing and laying in position specified grade of reinforced cement concrete, excluding the cost of centring, shuttering, finishing and reinforcement- All work up to plinth level: 1:1.5:3 (1 Cement: 1.5 Coarse Sand (zone III): 3 graded stone aggregate 20 mm nominal size)	1.62	Cum	6215.35	10068.87
13	5.22.6	Steel reinforcement for R.C.C. work incluiding straightning, cutting, bending, placing in position and binding all complete upto plinth level. Termo-Mechanically Treated bars of grade Fe-500D or more.	243.00	kg	56.60	13753.80
	Total					88616.53
	Add 15.69%					13903.93
Total					102520.46	
Less 9.5%					9739.44	
Total					92781.02	
Say					92781.00	

AE-III/C-4